NABARD ASSISTANT MANAGER EXAM

[ GENERAL AWARENESS |

1

Which of the fallowlng is rated
the poosest regon of the World ?
(1) The Middic Eant

(2) Asdén

(3 Sub-Saharan Afika

(4) 1=utiar Amsesten

(3) Nont of these

Which ¢f tiic lallowing terms és
NOT uscd 1n the warld of ‘eco-
noitles/Annnce?

(1} Sinking Fund

¢2) Third Waorid

{3) Open Door Policy

14) Devahanticn

{5) Puivilege Moton -

. Out of the toral hoputition ofthe

world ahout 80% af It lives 1n

11} Developed coutiries

12) BRIC countrics

(3] 1adn Amertca

14) Developtog countries =
(%) None of these

. Rashtriya Swasthya Bima Yoja-

na (RSBY) is a scheme launched

by the Ministry of - :

) Anance

12! Rural Develapment

tus Conimesoe

(4) indamiry (5} Labour

What ts the (\:m'orm of Uie ab-

hres fatinn ASEAN 2

{1) Association of South East
AgroNations

{2) Assoclation of South East
Aglan Natlons,

131 Afllance of South Eant Asian
Natons

(1) Aftance uf South East Asian
Nefghboura

{S) None of these

., Which of the following 15 the

scheme for providing electricity
conncctiona to all the fural
houschold in the countiy ?

(1l ASHA (2} Swadhas

{3 Katle Jyati, (4) Deep Mala
{3) None of these

- Muny Umca we read about PP’

in econens- liteexture. What PPP
1x? 1t I8 a coneceft which

It) tells us that exchange rotes
between currencies arc in
cquilibrium when tielr pur-
chasing power Isthe same In
beth the cou ntriey, -

{2) tells 18 that exchange rates
between currenclea arc In
cqullibrium when tbelr pur-
chasing power i3 cliffecent In
bath thé cosiniries

(3) PPP mcans the current Fx
change Rate of a cuneney
against US S

(41_n messureof incone tnequal-

For More Vi)t iwatevirsptngsate cave s

{5)] None of these

8. As we all know the Human De-

10.

1L

velépmeat Index (HDJ) s an in-

dex of gocla! performance In a

single ‘compos!ie tndex, ftis an

lnclicalinnar -

(1} disparity reduction mte, hu
man resource development
ratc and the conmposite (ndex.

._ly jongevity. cducation ond ltv-
{ng slandand.

(3) the lacilides for minimum
schooling, adultliteracy and
educational attainment

(4] GDP of it nation and the sta-
tus of l1a Balance of Trade

(5) Nonie of these

Which 0 1¢ of {bwe folleas ing woun-

tries Is nat conskiered 8 Newly

Indttrialized Conntry (NTCE?

(1) South Aftica

{2) Medoo  13) Beral
{4) Turkey ~gs ance
Which of 1the following

stiiternent{s]) s /nre corvect aboat
National Rural Emplayment
Guarantee Act (NREGA) ?
UL NREGA Is applicabie to all
ruralareas of the counuy.
\[BrOnly @natsuction work shall
be given to the warkers em-
plored urider this AR
[C) Every worker Is*given an
amounlt of Rs. 250 per diy
for a cight hours shift
(1) Only A (2) Only 8 K
(BlonyC J#Onlyas B
(S)AHA, B& Cvr”
Which of the following s NOT
truc about farmers in fcast Oc
veloped Countries [1.DCs) ?

{11) The staple crop is the chicf
source of food

{2) Labour i$ underutillsed ex-
oeysl for planting and harvest-
1ng scasons

13) On the trad!tional farm. out-
put s always greater than
oconsummion

\[jl—ﬁlti\'a‘l(ml utilise only a sma!

portian of land

(5] None of these

12. Which of the following organisa

tions /agencks contiuls the incn-
ctary policy of our countny' ?

(1) SEBI

{2) Positng Comninisason

(3) RB! }

(4) Union Ministry of Fin.nee
{5) None of these

13. Amartya Kumar Sen emph:isiz-

cs that having enongh to & de-

1’ends on onc very crucial lac

tor \Which of the follow Ing ts that

factor ?

(1] .Bocicty’s sysiem of entitte
ment

21 Dlsuﬂ)uuv ol ggriculturat
Income .,

(3} Low porcrty rates

(4) Structure of the (:mily

(5} Noane of these

14. The Nuttona) Foox! For \Work

scheine 8 now gubmermred with

which of 111e followlng?

{1) Pradhan Mantii Gram Sadak
Yojna

{2) Mahatma Gandhl National
Rural Employment Gurantee
A «”

13] Bhasst Ninnan

(1) Indirn Awas Yojana

(3) Nonc of these

18. Matry a time we rend about Fer-

Lility Rate in economic ktersture,

What Is Fertility Rate ?

(1) The total number of children
bourn in & countsy In & given
year divided by number of
chiidren died.

{2) Thr number nl children om
toan average woman during
her reproductive years -

{3) The number of births in
ocountry <divitied by to1al nop-
ulation in a piven year



16.

')
K

18.

19

21.

(4). The number of women in the
age #oup of 15-45 ycars In
a country dtvided by total
number of women died dur-
ing chiild birth.
6} Nene of these
ow Is dual ecenomy dtstin-
gulshed Gorother economies ?
it is a mixturc of ~
(1) rdustrialsector and manu-
facturing sector
(2) traditional agricetitural secsos
andd 2 moderm indostrial sec-

wr S

(3) stateowncrabip of the means
of productlon i coopcration
ol Toreign argutisalions

{1} Induetria) sector and tading
of goods obtained through
tinorts

() nane of these

Wstershed Development

Schemes are a past of =

(3] Development of Rural Econ-

oray
(B) Develoganent ul Skilled Work-
crs

{C) Development of rrigatsan fg-
cilliles In India v

(1) Only A [2) OnlyB

(3)Only A& C (4] Only C

* MA.B&C

The second summit cf which of

1he following oeganisations took

place In Brazil recemly ?

(ce (2 G20

{3) SAARC f4) ASEAN

{3l BRIGw,

During the rcoent Depeession

worlers in Developed conmitries

pefesred ta take inferior fobs

iostead of 13y off. ‘This situation

ts known as *

(1) Seasonal urmmpkym::u._(

#) Cyclical uszemployment:

18) Diagrtised unempdoyment

(4) Voluntary unemployment
Nonc of these

. Which of Lhe followlng tesyus is

NQT associated with the game

of Footbali?

(1} Comer lick

2} viideout (3) Line men

(4! Tollow o (5) Fullback

On which one of the (ollowing

tegves, there bl beer & dispute

between {RDA and SEBL ?

{1) ULIP products_

€2) Violatlon: of SEBI guldelincs
in cezpact af Investment by
hig companies (n equities

{3) Violation of SEBI putdelines
about disclosurces to be made
by the Compantes

14) Overiappingof the functiona
of [RDA and SEBI

(5| None of thege

22, As per the reports published (n

various newspapers Maharash.
tra and Gujarat havesigned an
agreement on tinking of major
rivers of the state. Which of the
following is a coinmon river be-
tween both the states?

S Naomada (2 Gangr
{9) Wishna (4 Betwa
13) None of these

23. We have noticed at on several

occasions that cost of petroleum
products fluctuaes frequently.
The action of OPEC memhers at
ames to linit output and fix pric-
c$ may he understood as an ac-
tlon artsingout of -
(1] instructions from WEFO
@Quaumkm fn outpann
(3} practices of the oll industey
{4) groupdwnamics
P cantel

24. Which of the foliowing countries

won the $1FA World Cup 20t0?
(1) Germany (2) Nethetands
{3) South Africa

\ww {5) Bl

25. Who amongst the (ollowing is

NOT a Badminton Pfayer?
(1) Apara Popat
@ ?hiaNchMﬂ
.V S. Lasxman
‘% P Gopichand
(6) Chetan Anand

28. What [s Bilateral asd ?

(1) It is technical ald @ven by
1 M.F to various countrfes

(2141 1a given directly by one

<~ Counuy to another

(3) 1t 1s ald with the condition
that therepayment will be in
Inconvertible cumreocy

(4] Itisacommercial loan made
avaiinhie by various lnstitu-
tlons ointly

(5) Nonec ef these

27. Who amangat the Olowtng isthe

author of the book ‘A Iflmalayan
Love Story'?
Wﬁamltha Gokhak
(2t V. S. Najpaul
Lr¥nita Desal
{4) Laxmid Sehgal
{5) Nonwe of these

28, Which of the (ollowing is the

name of the organisation ereat-

20.

o speclileally to develop small
scale industrial sector in our

country?
{1} NABARD {2 SE&!
8 sidBl (4] AMF1

(5) Noite of these
Whie is Nandan Nllekans 7
{1) Chatman. Uniquc idemiificih

~7 tion Authozfiy of Indlia

12) Chatrman. Afrport Authanty
of India

(3) Member. UGC

{4) Member Planning Commis.
alon

{5) None of these

30. Which of the following counusics

31.

2.

will host the'next SAARC Sum
mdt?

{}) Indta (2) Bhunan

(3} Nepal (3 Fy

{$¥None of these

Which of the following organisa-
lions/agencies ts specifically set
up to boost overall rural devel-
opment in Indla?

{1) RBI {2) SIoB!I
\3) NABARD 4] SEBI

(5) None of these
Cammonwealth Ganses 20t0 are
to be organised In Delhl in the
monthof :

{%Gﬁobcr (2) November
AAugust  (4) Oecember
{s} September

83. Which of the (ollowing cuns i=

34,

as

assoclated wih the game ol
Hockey?

«|}) Agha Khan Cup
{2) DCM Trophy
(3) Davis Cup
(4) Ocrby Teophy
(S} Rovers Cup

. Which of the following {5 a hoatd
cultural crop?
(1) )jrad
LPBajr

P Hango

. “According to Pfanning Comems-
ston. the degraded soll of which
oue of Ihe following States, pos-
¢s-a big threat to food security
and can caust scrious econom-
(¢ Implications to the natfon?
(1} Haryana
@ Uttar Pradesh
{3l Madhy: Pradesh
(4) Kamataka\J8) Punjab

2} Jowar
(4} Wheat

36. \Vhich ol the lallowing organls

tions maintalns the Kural Infca-
structure Development fundl
(RIDF) ?




(1) RBY

13) sioal 3] WC

®) None of thess

87. Whica of lho fellowing a/ane

trye about the Commpcuiion Com-

m 1ssfonof Indta iCC1)?

W CCils a regulatory bodyhav-
ngquat-judidsl atructuse.

(' it i1, rmablished fo Tevlace
s Menopolics and Restrie:
wrve Teade Praclices Act.

IC] Its main objective 18 to cre-
ale A huealthy enviconment in

eorporatc wvorid.
(b Quly A 12] Oniy:B
(3! Only C  19ALIA. B&C

% Nonn ol these
Acrocding 30 RBS. which onc of.
e following @ the biggeat con
et of thy cnuntiy?
V1) Dely crsts tn Europe
(Z)-irdlarion
§) GDP growth
(4} Piscnl detlci
5] Noox of thise

39. Which of thx loliowing Qrgapisa
tiong has recently launched
“Tapoers’ Infoanatfon Seivics ds
S S° o he'o armess in Sulaset
Jaw?

. ﬁgme BanXk ol Indfu
2) SIDB’

3] Reliance Sroup® ndus’riey
( RO
(5] Nonc of theac

40, Ou whleh ane of tn> Joflow ng
cgen-rica ‘hie Un'ted Naticnc
Secufty Jounc! [UNSC haetm

naszd  agllowe?

M ogya uhNoiw aona
3 Sudses Wl Myaanar
57w

31 Muhznmed Yunus of Sang
ladesh who was awarded Nobel
pita 8 few ycasd back s a (-
mous
1) Waltwr

DY Brononiist
13) Social wuedies
{4l Seientisl
5] Nane of (nese

43, ‘Sacred Camits’ Iz & novel writ
= oy

U%:\mua V)
£21 7uundhann Roy
{84 Kiran Desal

1¢) Khushwant Singh
‘e Nane of these

A3 W amoagsl the feliosnag ts a
lasubees ot beor 7
in‘)@mnnbnwi
W3 Coaanlr

(S} Anjall Bhagwot
(‘“ O, P. Melwi
{5) Nore of these
Ihe GL20 Surrundt wiis osganisexi
In Vine’2010. tn which of the
following citica ?
(1) tordon €2} Parie
3 Tolwo LY roron
{5) None of theae
. Ihve Covemnicnl ofIndia has e
lablishal o strateyic neserve of
abeu tS mitton tonnes’ of which
of the followtng covwinoditics?
{1) Stee! 12 Sugss
Byon W’mtm
{8] None oF thydd® -
“Mfd Day Mcal StHeme™ (s
taundhed to penlide cooked Todd
‘o the:
JPCHNIdren attending schon!
{2) Thoscwho arc gezting Nation
al Oid AgePension
131 Workers of Natlonul Rural
Benployment Ant
®F Residen! <icetdrs of Govern-
ment Hospitals (i rural ar

24

to

49,

¢ag
{3 None of these
Wis¥h of the following 1a NOT a
Cach Crop?
{1) Tobarco {2} Cottor:
{3} Cotlez  Jg Bajarw
15} Tea
Menbers of thé Rajp+ Sabha ase
vlected for a pertod »f -

47

1) dveass (2 Qilycars

-6 ysara  14) 8 ycars
(8} Noneof these
49. The 12€ Cricket World Cup Fi-
nal 201 1 will e piayed In which
of the following cities in Indla 7
Rolkatn 2L atwnhai
(91 Ot} ) Chennat
{!5) None of seng
30, V'hat 4 the coniribution of Agyt-
cutlturat Sector in the tetal COP

Ingfz 7 Abou} ¥

B > 7
) 4% 54» -3
{%) 30%

—

For the avallabillty of all
Books and Magazines of

e ]
"X{RAN PRAKASHAN PVT.LTD. |
in KOLKATA

Contaci . N
_ M/S KANCHA NROOKSTORE

( Otd Magazives arc also aeatlable

ENGLISH LANGUAGE

Directions (51 - 65} : Read the
following pacsage carcfully and an-
swwer the questiona gven below It
Certain words/phriases have been
paEnced in bold to help you Jocate them
while answering some of Lthe quesiton.

Organic f(arming |3 cither reafly
expe:nsive or really cheap. depending
on where you live and whetheror nat
you Arc gertitled. Nat only are the “nat
urnt” pesticides and (criltzers increas-
fngly marsieted by agrbusiness as
costly as or costlier than thelr chein!-
cal counterpasts, but proving you are
an organic lrmer requires cretific:-
tion, which 13 time:consurging and
expensive In the USA, converting to
organic agriculure §s a huge undec-
taking for commerciti | farmes who
have redied on chemical feitllizers and
pesitcides for many decades, but in
India. the conversion 18 no less ardu-
ous nnd (ar more ironic.

fndia’s farmers are s13ll nwestly
practising organic methods. passed
déwn for millenni. Organtc fertilizer
and natam! pest contro) are the only
roate avadlable to most of these farm-
ora, who hiave atways lacked the fl-
nanclid sesources Lo explore chemucal
aoluttons, But these Armers, whose
producc i5 ag OTganit as they conre,
¢nnno’ afford to pay the fees required
togain diictal ceriffication.

As the fnleerational communicy
stiopts stundards for organic agricul-
ture, the challkenges faced by farmers
In the USA versus farmees In Indla in
orcler 1o adlapt are very different in-
deed, The danger {8 that the well-
ihitentloned global move towards or-
ganlic standavds will ma ke small or-
ganic farmers in counutes lke Indk,
witd have nevér done anything hul
organic (arming, no tonger able toselt
thelr crops.

iy reapanse ‘to-the 528 btllion
globa market for organic foods. the
inglan Central Government set up a
vational In s8tuteof Organse Farming
w Octobar 2008 The purmose of this
fnslitute i to formutate cutes, reguta-
tlons and certstication of organie G
products [n conformity with inierna-
tional standards. The insttute has its
offices  across the countsy and has
appointed cerifying agencies for or

1 ganlc fare products for the domesic

markel ‘Nie cenlfying agencies ore

—} accountable for confirming hat any

product sod with the new “India Or-
ganic” logo Is In accordance with in



temattonal criterta, and faunch mafor
awareness and marketing Cagxiigns.
in indla and abread.

Osganle fazming has been fden-
tified 08 a major thrust area of the
101h planof thc central governmem.
one biltion rupees have been nliocat-
ed t0 the aforementioned Nationa) In-
situte of Organtc Fanning alonc for
the 10th 8ve-ycar plan. Despite this
most of tndia's organse (Anns are not
officially considered osgmnic Most of
Indin's farns are "arginic by default.”
‘The irony and dificulty of the new
goveminental push for organic agii-
culture is that 65% of the country's
cropped area ia “orggnic by default.”
according to a study. By thia some-
what degrading term they mean fhat
small farmers. located in0stly In the
Eastem and Nocth-Eastem reghoos of
the country. have no choloe except to
farr without chemical fertiiizers or
pesticides Though this is true in many
caycs, Itis alsotrue thata significant
number of them have chosen to farm
organically, as their forelathera have
done {or ihousands of ycars. Many
have scen for themselves the eifects
of chemical farmung ~- s0:l erosion and
103 of soil nutrien1s. loss of nutsition
in food, and human dlaeasea result-
ing from the chemicals that incvitably
scep Into the water table. 3!! the reis
soms for Lhe usgent demand far or-
ganie foods and farming.

indla currenily has only 1.426
certified organic fan as. This statisti-
cal discrepancy reveals that the weak
link in the orgaoikc/economic chaln is
certifications Under curment gavern-
meni policy, it Lakes four years for a
fsiem to be ceriified as organic. ‘The
ok of preparing the repornt 13 a liat
fec of Ra, 5,000 and the certificate
ftoclf costs anather Rs. 5.000. Whiie
these costs are bearable for the new
trrdustnal organle greenhouses. they
are equal 1o or more lhan an entlre
year's income for the average amall
fasner. If the ¢usts of truvel and -
spectian are included.

inthe Cniied States an oiganlic
farm {Nan or ‘organic handling plan
must be auhmitted to a USDA
accredited private or state certifica
Uon prograin. The plarr must explasn
alt curent growing and handling meth-
ods, and any malerials that witl be
uscd—in the present, and any future
plans must be included as well.
Records for the last five ycars must
be presented. Land must be cheml-
cal-tree for three years prior to har-

vest. so aconventional farmercannol
recelve the organsc label for the tran-
sitlonal years. This will gencrally
mean a decrease {n income  crops
may be less plentiful than with con-
ventional fertiflzers and pesticldes,
and yect the higher price for organic
products won'tyet be poasible. Many
farmers cannat afford the transltion,
cven If they want to,

One salution to the amalt asn-
er’a dilernma of how to hoth eerufy
and survive s that of community cer-
tlfication. In community ccrufcaion,
communites, on a non-profit basts,
take chnrge of the certification pro-
cess themaelves. They evsluate the
farmer's commitment to the stewasd-
ship of the sofl, and examine from
many angles whether the (0o is be-
ipggrownin an envitonmentatly 9en-
sitive way or not. rathier than technt-
cal standards. While eommunity cer-
tificadon may be a viablc solution on
the local [evel. It {8 our opinlon that,
in the global marketplace. less than
exict technlcd) standasds will never
Le enoygh for today's consumer- and,
in today's largely potsoned environ-
ment. it shouldn‘tbe, elther, Further-
mare, much -soft” guldelines cancas-
lly backfire on the farmers them-
sclves, asa system nol based on facts
must be by Jefinition subject to loca)
politics, brtbery, favouritism, etc.

"India must find a way (o keep
the strict International organic stan-
dards intect if it wanis to compete In
the international market for organic
foods- but s there a way to do it with-
out leaving amall farmers out {n the
cold ? One obwvious solutlon 15 {or the
government to subs!dize these catdl-
cation [ecs enough o make it a via-
dle option for ordinaty farmerns, not
Justforneo-ocgini factory fanms and
greenhosiscs. Banks also could pro-
vide a more jevel playing ficld for small
(arroerg. Currently, almost bank loans
are for purg_crop farmers. While
many of these big-buaincss farmers
usc harmful chemicaly and process-
cs, small fagners festilizing Mielr soi)
with recytied oaganic wastes ore usu-
ally ineligible for insurance, much less
gtate subsidies.

51. What role does the Natlonal In-
stitul e of Ocganic Farming have
to play in the organic farming
area?

(1] Fo act standards for the Im-

port of material required for
orgenk fanning within India

8

g

[2) To ensure that Indian farm
products confosm 1o the tn-
ternatlonal standard for or-
ganic foods.

(31 e ruggest methods to farm
er3 {or produaing the Lies
organic products,

(4) To impost the best organic
foods from International
ocountries antl harvest them
In hidis

{9 To sct up agencles mierna
tonally foe the marskellng of
Indlan organic psoduce

Which of the following I8 j:0s6l-

bly the most appropriate title for

the passage ?

(1) Agribusiness in indla

(2) Organic Farming In India -
Anirony

(3] Inorgantc Farming - A Health
Hazaed

{4) Small and Marginal Farmers

{8) Ovegnuc Pamunglnlndiu and
the US

Why. according to the 2tithor e

the term “organic by de(ault”

degrading ?

(1} Asindian farmers arc ndopt
ing incosrvect methoxls of or-
genic farming, thereby ren-
dering the crop uselcss

{2) as the ctop cultivaicd out of
orgenic faiming 1s rejecter!
by most intemational agen-
cles.

{3} As all the farmers in Indii do
not have any acocss tochem-
ical fectilizers and pesticides
to carty out inorganic {azm
ing

(@) As the Government his s-
sued a dlrcctive to fanmers
in India to Carey out otsank®
farming alone

(5} Asit means thisl the fanners
in India cannol afford to use
anything but organic meth-
ods of fanning

Which of the following ace rea.

3004 fce the increasing demand

for organle fcods and organic

farming ?

(A} Consumption of Inorganic
food has given risc to human
discnses

(B) Excessive use of pesticides
has caused soll eroslon

{Cl These has been a loes In sofl
nulrient vilue of soll due to
chemical farining



(2) Only |A] and (B]

(3) OnlyIC}

(4) Only (8) and (C)

(5) AH(A). 1B) and (C) are true
\Vhy according to [he author, will
the itleds of community cestifica-
tlon not work ?

{1} Aathere tnay not he enough
> nNedple in the commumndty to

58.

K NADAR

(W Lirge number of faymées n
India are averse tot theddea
oforganic fmmyng as ftis not
prolitable

Which of the lollowing, accord-

1ng to the author aré fgctors that

can help Int acquirtng organic
farm’ng cettification fn india ?

W Providiig morebank loans to

“ small mrmery

Dlretion (68 - 70) ¢ Wibuhot
the phrases (1), (2), ($hand (4 given
below cach sentenoe should replace
the word/phrase prioted in bold in
the senienoe to make (t grasnmadcally
corrext ? 1 the sentenee s correct as
(i 16 gven and no corrretioon s re
quired. mark.{5) as the an<wer

68. Since Riya did not «ant to be
disturbed while. studying. she

¢ work on a non-proNt basts {8 Reducing the quantum of ki the phone off hooks
(2) As the farmers' may not be loang bieing provided to pure (1 off the hook
forlhooming in proatdinig in- crop farmers (2) off hooking
formatson about thelrtulitva- {Q) Lowering the cos of certifl- (3) for the hook
tion practices and thus leas| cation (4) of henk

to the faflure of thts system

a mgjar problem with Organic

Directions (63 - 66} : Choosc

(1) OnlyiA} (5) No corrottion tetuired
43) Aa the certification granied (2) On¥y {Cl 67. Since Shitpa was overbutdened
through this scheme will nak . with work.-Decpa dectded Lo
be anthentic arait (3) Only (A) and (C) gave ber hand.
141 Agcertification Sought in 1hus {1] Oniy1B) and () (1) giving hands
munner may give rise to vest- (5) AL, (B) and (C) (2} give her a hand
cd Interests and also not Directions (39 — 62) : Choosc (3) gvig her handful
meed the stringent crtteria  the ‘word/group of wotds which ls () her hand
lakd clown globally most similar in meaning to the ward/ Rave her hands
(5) None of these gronp of words printed in bold as uscd (5) No cortrction requised
B6. Which of the following is TRUE  in the passage, €8. Despitc having passed out from
In the contest of (he pagsage ? 59. ARDUQUS school over ten yeaz.. oack, most
W\ The Inclian Govestonent is not ) pleasurable sdif'ﬂm: (e B Kacp Lol wiih
in favour of acquiring certlfi- @difcrent  (3) difficult each other.
cation 16 nwet gobal stan- - (1) are kepl toucr:ed-
dards (4] hazardous T8} thecatening (2) is keeping touch
(B) The pragess of certification 60 FORMULATE (3) keep touched
i quite time .conswting :ind ) rédiiirte  (2) contemptate (4) hatl kept in touch
expensive. (3 apply {4) frame (5) No comyectign jcquined
() The farmer does not earm 5} i 69. Seelalias well awareoeas of Lhe
r'nucll dunng the three -four gy DEGRADING fact that her actons would have
:1?1'::1 l‘.:‘al it takes to get cer {1} coTUplng  {2) minimizing lf)mb!c m%rmgfgslo:\rs.
(1) Only {Al and (C) (3)lowering 41 ing :2! ;l‘:;::ﬂl’:‘;;m
(2) Only (B) {5) awerying (3) 18 aware to
(3} Only (B) acd (C) 62. TRANSITIONAL (4] 18 In awareness with
(4) Onty {a)and {B) I} Bdtrape ') intermedihte (%) No correction required
13;;1:]‘:2:.053);:\? (ﬁ: ' (3) n:ynlu(hnzw 70- Shashl trfed as hard he would
. 4 10 theauthoe, Is [4) base (5) changed to win the race but failed W do

80.

Farming in indla ?

(1) Despite thelr organic rature
most farms in Jndia-are not,
peneited aa mg'mie Becauge’
of roere paperwork

the word/group of words which is
most opposite in mcaning to the
word/gron 1of words pridted in bold
ss uaed hx the passage.

(1) ax hardly xo he eould
{2) as hard as he could
(3) hardly soas

4} so hard thac cottld

(2 Thc Govermment has not paid® 5> ViADLE {3) No &riection reguured
altention to bigan!c farming (2} Impossible  (2) ncgative Disections (71 ~ 76) : In each
in India therchy promoting (3) deadly 1) practica) of the folléwing questions four words

Inoegsnic larming to a great
extent

{3} Only recycled organic waste
Is available to Indian Brmers

are given of which two words are raost
nearly the same or opgostic In mean-
ing, Mind the two wardd whicharemaost
neary the $ame or oppodite In me:n

O ctitlimentary
64, INEVITABLY
(1) avoidably  (2) moatly

for the puspose of organic Blcertainly @) expectedly o0 “rhe numbér of the correct lelter
fanming (5! predictably comblnation Is your answer.

(4) iodisn fanners are accus- 65 ACCORDANCE 71. (A Disciple (B} Studien
tomed to the usage of chem- (1) divigion (2) quarxe) (Cl Academy (D) Martyr
lcgls and their farms have {31 wune (4) cnmlty (a-c E-
now started losing their fer- (S) conjlict 38-C #B-D
tlity (A~B

'ict‘l.' + The Infommation Prowided Nere 5 Onlv fTor reference. IE Mav Vary thmmOoriainel .



72. (A Maghetic  [B) Choished
(C) Valued (D) Forlowm
mcec-o 12Ja-8
31 B-0 4 B-C
Ba-» A x

73. (N Ordinmy . . (B) Vague
(C)C1stam (D! Exeoptionnl
{MA-B 2 8~-C
B1Cc-D 4 A-D
59 B-D

74. {A) Damaged
(8) Hurrled
1Q) Condemned
|D) Measured
(lA-B _12) Ce D
(3 B-D @ B~C
13 A=D

78. (A} Rernote [,B) Traubled
(C) Secluded (D) Apparent
mB-C (2A-D
3 8-D @cCc-D
iHA-C

Disoctlons (76~ 80) : Resrrange
the fo sl sentences{ AlL(B), (C],
D). {€1 and (FY inthe proper scquance
o form p meantogful pamgrapd; then
answer the questions given below
hem,

Al A lega! [ramework'ls thus,
now avallable for promating
cnergy efficiency n all aec-
1018 of thie econoiny.

(Bl The tncrensing peeference for
conrciateacrgy haslod o
a sharp tnercase {n the de.
mand [dr electticity 3nd fos-
il fuela.

1C)-There 18wtHl o cansuderable
potential for repatririg such
dammge and reducing eners
gy consu mption by adopting
enogy cllicicncy measures
al varilolls sectors of our
country,

(D) Ttus framework 15 nodung but
the Energy Consesvation Act.
2001, the success of which
greatly depends on the peo-
ple who take the Jead in sup:
poiting this programme.

(£) This uae of loastl fuels has
resulted (n cinisslon of a huge

. quaatily of <irbon dioxide
CAUSINR ETVONS CNVITDRITED-
1a). damage.

IF) These adopted measvres wilt
nat only reduce the need ©
create new capacity sequr -
ing high investment, butalso
resull 1 substantinl avicon.
mental beneilts.

?6. Which of the followlt g shoulde
the FIRST senitence fier sear
rangement ?
thA

13yC 7

Se
. Which of the falfosthg should be
the YOURTH scntence /fter re-
armangement ?
(e

(A

3B

Which o the fcllowisig shioukd be
the SRCOND sentence ofitesre-
ATRORCIDCNL 7
() B

(3D

B)F [
Whichof {ite follow g sliould be
the LASY (SIXTH) acrilence af-
ter ceasvRiigement ?

4l A 2)8

)1C (4)D

BE

Whichof the fnllowmgshould be
the FEFYH gcnlcnce aftes rear -
sangemeit 2

maAa {218

3¢ ) D

{BIE

Nirertians (81 ~ 80} i Resvd exch
sentence 0 find oumhelhc:' there is
uny grommatical efror or idiomatic
errorlaitt The eyvor. (fany, willbe In
Qne patt of the scnicnce: The nwm-
ber of that part, is the ansser. Il there
is no error. the aasyer ia 'S {ignore
esTors of punciuatioo. i any).

681. More than half of theleod prod-
ucrs {1)/ targeted at babies and
toddirs have {2}/ 3 high sugar
conlentl and are (3] excesslve
aweet. (4}/ No error (5).,

82. The forelgn comflany has so far
declined o (1)/ direcy coupent
on the Indian company’s move.
{21/ which analysts say is 2 sign
thé¢ company wanting 10 {3)/
fighn fories presctice tnzhe mar-
tget. (4)/ No error (8)

83. Aﬁf’r lorty ym aftving to 11}/

why qibesios caus-
manw {2)/ cesearchers have
now finalty {3)/ unravelled the
mystesy. (4]/ No eavor (5)

84. A property 'dealer was {1)/ shoot
dead by four untdestifled sack-
ct-clad men {2)/ wivle taking a
narning walk 13)/ io a pavk. 11/
Na exvor {5)

2)B
“o

@F
4D

78.

79,

8S. The auditton or Indlah §:nw s
{1)/ reality-based pop ht.l‘-d
hunt. is {2)/ q¢ing on-u: il
swing, {3}/ with numeiqus on-
tries came M. (3)/ No.errorts)

88. To curbing the apreacd-of vio-

lence. (1)/ suthotities bsoughe

under curfew 2]/ st accae tn
the State, where (3})/ thice
youths were killed. (437 Ne =r

ror (8)

Dimnundd {or dbzsel wars ylehy

has i)/ beenoan the che @ U

txat few years, [21/ muy iy s

the poverTunent Js inceeastng the

price {3} of the fuel, bringlag it
closcr to that bf petrol. [Q)/ No
errur(5)

88. Not only was the actriiss oc?
the mooa (1)/ as winning an
award. but was {2)/ also de~ply
fouchied Ly the supvneI8) £ Y
goe from s fndust re )’ N¢
csTor {3) 3

;" The protestore went o 4 "Nt

DAZNE M)/ and 22 ahisze thue,

shops {2}/ resultng int Injric

to thirty peopic (3)/ includiag
women and children. {$1/ Nc

zrror (5)

Hectie schedules can {11/ take

& toll on anybody ad 121/ 1t

wolution® o Ubky s (3)/ ‘1 iyres)

87.

holiday :0 s0m= txotdel onation
(4)/ No =tror {5)
Directions (91 ~ 200) ¢ 'n ty

following paseage there are Wank
each of which has bres num bered
These numbere 2re printed below th
passage and agatnrt eath. e
are suggesicd, one of whizh lita th
biznk appropriatelv. Find 0:3* themy
propriate word In ofeh o

Inctian has Bemmme, w pacnar
irng power parity tarma. the oLt )en
est econonly In tho wortd. /el
nomic (91l since E280 Y o heo
among the (82) rapid. Allhovgh fndi
managed (ts one inapititl emsisin tk,
carly 1990s. it avold=d the cotastopd
ic losacs (@3), Whilz many (94) 1 b
cxnostng Ind!a’e economy ‘0 1AL
commpetition would paveat Indip's v
nomlic [95), It hac mthor ravealg
strengths tnd oflen unexrprces
strengths In now areas nd plenn:
would have (86) of.-India 13 1ncme;
Ingly eaking its (9] on the Jobal sty
andin inlernafonat tomns a2« 2t
centuty fuperpowes: ‘The gea-2tloy
of potiliciana and podicy makuzt
have heer: (98) of ieacing ‘ndix
where 1168 today zan be fustifiably (9
of the uanslonnauon. Bt achi

e S



vofwhtch are ~Improving seivice
dclivery, par-

1lcularly to the poor rhrough ‘greater
aoccountability and eqganding the ben-
cfits of rapld growth-across sectors,
regions and people.

91. ()] decline (2) policy
(3) crisis (4) treaty
(5 growth

92. {)I several (2) very
(3) most (4) much
(5) so

83, (1} envd (2)detertoraticn
(3) thua {4) tagether
(5) elsewhere

g4, (1) asked {2) feared
{3) think {4) spoke
15) bellese

95, (1) growth (2} space
{3] gmin (4) weakness
(51 void

986, {1) queatimed
] dieamed
(PYarranged (4l plan
(5! wanted

07, (1) milier {2) place
(3) Iife {4) generation
(5) mark

98. (1) pant (21 I1ssucs
(3) humans () figiment
(5) thougbt

989, (1} worried (2] angry
(3] honoured
%) cistinfushed
5} proud

200. {1} impoasibilitses
2] evaluations
{3 chalterges
14} comprrsons
15) dongers

[QUANTlTATlVE APTITU DE]

Dlrections (101 - 10S) : What
will come in place of the guestlon mark
(7] In the following questions ?
10),40,7}’ ={0.343) =(0.7)" +{0.49)*

na 26

(3) 7 19 4

Jrroncofthese S v
10861675+ 21 + S = 7 X6

6.25 12) 25
14 62.5 ) 2.5
() None of these
103. 58 x 125 405 ¢ 155 «? »

49.3
106 2 t1o
120 41 156

gl 5 om_'(oﬂhcsc

) {1) 261

100, {7 - 1P «B- /38
me 12) 4
13) 9 @) 7
1S) Nonc of these

105. 32.5 x 28% of 450 + 3 -~
7458 =7
1)) 542 12) 522
{3) 632 (4) 612

{8) None of these

Diroctions {106 - 110) : What
appraximate value will come in place
of the question mark {2} In the fotlow-
Ing questlons 2 (you arc not cxpected
to ealculate the exact value)

2240 xaloo
1062 > x 2 lal-ax q 7
2 "} 4
312 4 15
7
107. (14.98)% -{359)3 + (8.01)3 = ?
875 {2) 600
) 700 {14) 580
(5} 540
108 35.01%0f 929 » 19.89% of GO)
-?
{1) 580 11 470
{3) 400 {4} 540
(53 120
1 99.94 - 3001.01 -~ 999.09 =
? - 499991
(1) 9000 (2) 9500
0000 (4% 10.500
8 9.700
?A«n +29.98 x 9.96 - 100.01
a?
) 160 {2) 550
(P65 {4) 250
sy 200

Directionsa (111 - 1185} : \Vhat
wtil com= In place of the question mark
{2) 1o the fallowing nwinber seties 7
Yr 18 96 181 213 252 (@
' 2278

13) 265 o) 291

(3] None of thesé”

2.7 13 24 40 61 (A
A8 {2t 92

(31 89 (4} 93

(5) Nonr of these
13,812 89 55

42} 218 23 238

(7220 @ 208

(5] None of these

180 @

‘1?»3 7 189 38 67 (M
0 107 ® 13
(3) 109 4 107
5) None oft';‘csc
5)759 423 255 171 129 [
o118 @) 107
(3) 98 (q) 92

of these \e
o e e e

Ditections (116 - 120) In the
folowing questiona two equa lonsnum-
bered [ and I! are given You have to
solve both the equations and

Give answer {1) If x>y

Give answer {21 If x2

Glve answer [3) [fx< y

Give anawer () x5 ¢

Give answer (5) If xw §

or the relattonahip cannat be
eatabliahed

16, 1. x2. J1206"2 - 58

1L (Y773 x (14241 - 262 = 250
117. 3. 2x4+3p«19

I 7x-4y =23
118 1. ¥+ 12« 7x

. y3+30 =11y

118. 1. J16 + Jx+18 = 121

. - 640 » 321

2 Y%

-—— 0
> X

120. 1. x

18 7.
e 7
121. Amansotd an il em for Re. 8750
at a logs of 25%. What will be
the sclling price of same item If
he scils it At a profitof 159 ?
(1) Rs. 10,530
{2) Rs.9.950 (3) Rs.10.350
(4) Rs.11.340
15) None of these
122, The sum of the circumference
of a circle and the perimcter of
a rectangic is t32 cm. The area
of the rextangle t= 112 sq. ¢m
and breadth of the rectangle is
8 an. What is the area af the
circle ?
(1) G1G sg. cm.
(2} 510 aq, cm.
(3) 396 3q. on.
{4) Cannot e determined
(5) Nonc of these
. The cost of 5 kg of apple is equal
to the cost of 12 kga of itec. The
coat of 3 kg of flour 18 equal to
one kg of rice. The cost of one
kg of flour 1a Rs. 17.50, What
Is the total cost of 3 kg of apple,
2 kg of rice aed 4 kg of flour
together ?
(i) Rs 543 PIRy. 527
(3} Rs. 563 ¢4) Rs, 953
(5} None of these
124. Thirty five peecent of 740 19 34
more than a number. \What Isg
two-ith of the number?



Not

128.

126,

1279.

128

129.

130.

M

(1 45 2) 90

& 180 4) 120

(8} None of these

The ratio between 1hse¢ angles of
a quadsrilateral 156 { 3: 4 : S,
The smallest angie ot a triangle
18 onc- fourtb the langest angle of
the quadriintetal. Lurgteat angle
of (he triangle is 30° more than
second latgest angle of the tet-
angle What ts the scoond larg-
est angie of the triargle ?

(1) 80* {2) 60*

3 70*

(4] Cannnt be detenmined

(5} None of these

A l.raln covered 3 distance of
123590m In 13 hours. Also. the
average speed of a car ds four-
f1Ifth the avernge speed of the
traiocn How much disiance will
the ¢ cever in 22 hours ?

£1) 2234 km (2} 1144 kun

3) 1134 kim  (3) 1244 km

15) Nane of trese

‘the watio belween 1he present
agex of Meora and Priyais 3: 4
respectively. Ten yours aga the
ratlo between theie ages was 42
7 eespectivey, What will be
Meor's age after S yeas ?

1) 18 years (2} 24 years

13) 23 years (1) 20 years

[5) Nooe of theag

The average marks of nine stu-
dents In aigroup is 63, Three of
them scored 78. €9 and 48
marks What are the average
marks of remalning six stu-
denls 2

{1) 63.5 2) 61

3) 83 (4) 62 5

{8) None of {iese

A bag contains 7 red balis, 4
green balls and S yellow balls,
What 15 the probability that 3
bally tlraw at random are elther

‘green o yellow ?

I
W 130 2 e

3 3
3) 080 4l 0

(S) None of these

Six boys or four men can corme
plete i piece of wor b in 24 days.
fn how many doyd will 3 boys
and 10 men logclhcr complete
the same péece of work?

e 2) 8

3 12

{4) Cannotbe determined

{5) None of these

Directions (131 - 135) : Study the following table carefully to answer

the questions that (oilow *
Number of Clerks and Officera racrulted ({a thousands) Ly five different

ban¥s during aix different years
) Bank

“Yemr| A B c . i
200442 | 16 [36]| 22| 53| 38 [ 69| 56 |7.7| 69
(3005|5.2 | 2.7 | 58| 4.6 | 69 | 40 | 70| 38 |88 a4 ||
2006|353 | 3.0 |39 | 28| 64| 56 | 95| 7.8 [99] 79
3007|657 | 4.1 |58 ] 56| 70| 5.7 | 86| 6.3 [11.5 98
200869 | 3.9 |69 0.7 | 98| 64 |11.7] 98 |14.8 113
2008 7.2 | 5.5 |89 ] 5.0 | 68 | 55 |10.6] 89 169107
181. In which bunk the total number Directiona {186 - 140) : Study

183.

134.

133.

of Ofeerx and Clerks récrulted
together kn the ycar 2008 is scu-

ond highest ?

M E @c
(<12 @A
& D

. What waa the respective ratio

between thetotal number of Of
ficers recruiteg by bank ¢ aod
D togetherin theyear 2006 and
the number of Clerks reerulted
by bank i §n the year 2009 ?
h3n: |8

2) 31 :

{3 18: 33

4) 18: 11

(5) None of tbese

YWhat was the sverage number
of Officers recrulted by Bank €
grerall the years 2

(1) 3.000 2} 5.000

(31 30.000 (1) 5.500

(S} None of thesc

tn which bank the number of
Clesks recruited conlinuoualy
increased during theyecar 2004
to 2009 ?

(1) Only Dand E

(2) Only B

3) Only €&

(4} Only Cand D

{3) None of these

Total number of Oflicers recrult-
ed by all the ban ks together [n
The ysir 2004 wvas approximate-
ly what percentage of the total
number of Clerks recruited by
bank B in the year 2008 and

2009 rogether
(1112 @177
[3) 93 ¢ (@27
(8 102

theTollowing Pic.chart and the table
glven beslide it curelutly t0 answer
these queations.

Percentage wise Distiibution of
Iecturors in 8ix Different Subjects

in a Uaiversity

Total number of Lectusers : 1600

Percentage of Lecturers

%
2
b i
¥ %,

Education
18%

Ratio Between Malo and 'emate

Lecturors in the Uonivereity

Lecturers

[ stales! Females

Mauwmatics 3 A
ucation 3 3
s 3
7
Ph ks ) 5
oRy 7 9
136. Tolal numher of lecturers (both
malr and iemale) in Hindi Is ap-
pruximately what percent ol the
1otal number of female lesturms
1n Mathematics and Chemisuy
together ?
{1l 58 {2 43
3) a7 (4 53
(S) 20
137. What Is the diflerence between

the tolal number of lecturers
(b&th msle and femaled Sn Zoolo
gy and the total numberof male
lecturers in Chemisniy and Ed
vication together ?

{n 192 2} 162



(3t 146 ) 136

{5} None of these

What is the difference between

the number of fermale lecturess

tn Zoology and the number of

male lecturers tn Hindl ?

(1) 156 (21 160

(3! 150 (a1 153

(5] None of these

What 15 the total number of male

lecturers in the university ?

(1) 696 (21 702

3712 (4) G68

(5] None of these

140, What s the respecttve ratio be-
twWeen the number of female lee-
turers in Physi¢s and the nuin
ber of male lecturers in Mathe-

138.

139

matica ?
mos:9 22:9
33:7 4 5:3

{3) None of these
Dircetions (141 ~ 148} : Study
the following graph @and answer the
Questions hat follow.
Number of National and Interna-
tlonal flighta (in hundreds) can-
celled in 8ix different years

88 Nationa! fifghts
O internauonal Kights

- ke aw o
©OC N & O

[ - ]

Number of tlights (in hundreds)

0 Ll.llLI..L..._L..JJJ.
g
c
o~
Years
141, What ls the approximatae aver-

age number of natonal flights
coneelled over ail the years ?

(1} 780 {2 867
(3 898 (4} 824
(5} 7G5

142. Total number of intcrmational
flighta cancelled tn the years
2006 and 2007 together s ap-
proximately what percentage of
Intemnalsona) flights cancelled (n
the yrara 2003, 2009 and 2008
together ?

(1) 81 {2) 85
(3t 96 ta) 81
(5% 99

143. Whit |s the difference betwren
the total number of nattonat
flights and the total number of
intermational Aights cancelled
aver all the years ?
(1} 800 (20 250
(3) 700 (4) 450
{5) None of these

144, In which year Is the lotal num-
ber of (lights (both National and
[ntermatlonall cancelled the sec-
ond jowest ?
(1) 2003 f2) 2004
{22006 {4) 2007
{S) None of these

143, What 18 the respeciive ratio be-
tween the number of intemation-

al Nights cancelled tn the year
2007 and the total number of
nationat Dights cancdied {n the

years 2004 and 2005 logether ?
me:17 2re:8
(16:0 @3:)

(5} None of these

Directlons {146 ~ 180) : Study
the following information carsfully to
arswer the questions that follow:

1n & tournasment. a Wial number
of 400 players have piuticipated in five
different spocta, viz, badminton, hock-
ey. lawn tennis, cricket and basebalt.
15 percent of the total players hinve
partidpated In badininton. Two-(ilth
of the (otal players have partictpated
in hockey. G percent of the total play-
ers have participaled in awn tennls.
25 percent of the tois] playets have
parttcipated tn cricket, Rematning
players have participated in bascbalt.
One fourth of the hockey playem are
females. 20 per cent of badminton
players are male. Half the playess who
have paructpated in Jawn teunis are
males. There are 45 female crlcket
players. No female player has partici-
pated tn baseball.
146. Number of female players par-
ticlpating tn badminton is ap-
proximately what percentage of
the numberof players paropat-
tng {n bascball ?
72 2 76
(3) 80 4) 95
(5 86
What ls the diffience bétween
the numberof wale players par-
tddpating tn hockey and thenum-
ber of female players particpat.
ing In lawn tennis 7

147.

() 92 2 98
) 102 41 108
S) None of these

1.48. If due to certaln reason cricket
gismie was dropped and all the
cricket players left the touma-
ment. then what would be the
total number of male players in

thetoumanent ?
{1 200 2 210
(3 190 (4) 220

{5) None of these

\What is the respeetive ratio be-
tween the number of male play-
ers participating tn badminton
and the number of femuale ptay
ers particpating in hockey ?

(0 3:1 (2) 3:10

@3 611 (4) 11:6

{3) None of thesc

What fs the Lotat number of ie-
males plvas participating in the
tournament ?

{1) 130 R 120

3 145 3 185

{5) None of these

149.

150.

REASONING ABILITY

131. Town Cistowards the South of
lown B and town A is toward the
North of town C. 15 which of the
following divectfons {$ town A
with resgpect 10 town B?

) Worth

(2) South

(3) Soulh-West

(4) Cannct bedetermiinl
(5) West

152. How many such palra of letters
are there in the word MARGINS,
cach of which has as many let-
ters between them in the word
{in hoth forward snd backward
directionsl 14 they havebetween

them (n the English alphabetical
series ?

{1} Nonte (2) One

(3) o (4) Three

(8)Mare than three

183. if it i3 possible to make only one
meaningful wosd with the third.
fourth. elghthand theninth let-
ters of the word ‘'CENTURIES',
which would tie the second let-
terof the word from the let? if
more than one such word can
be formed, give ‘A’ as the an-
swer. If no such word can be
formed. give ‘Z' a8 your answer,
A (2IN
3T W) E
52



bets will rematn” unchanged If
each of the. alphabets in word
PRODUCTS s arranged [nalpha.
betical erder from left to vright ?
(1) None {2) One
(3) Two {4) Three
(8] More than three

188. Whicti of the following repre-
senta the correct telatlonship as
Indlcated in the given igure ?
(Not neccsaarily In the given se-
Quanos)

0O

(1] Vegetables : Apples: Fruits
) Gears : Tyrea : Cars

(3} Cone : Cylinder : Sphere

{4} Planets: Solar eystem : Gal-

axy.
(3) Gold : Silver : Meta)

168. What should come next in the
followlng Iotier aeziea ?
abcdefbcdegecdeh

) ®c
3d g
(5} Noae of these

187. Rour of the following five are
alike Ina certaln way and hence

form a group. Which one does

not belong to the group ?
(1) Paper {2) Wool
(3) Cottan (4] Wood
(5) Plastic

188. Saliders’ ate related Lo 'Ammy’ in
the saume way as ‘Players” are
celated0' .

(1} Game

) Toumament
(3] Sports

(4) Ceptlain

(5) Teamn

169. Poinitng toa photograph Mohan
aald "his mother's only child 8
my father’s only son”. Whose,
photagaph s Muhan pointhg (0?7
()) Brother’s  (#) His own
() Couslon's (4} Father's
{5 Nephew

100. What wiil come in place'of ques-
tlon {?) markin the following se+

res ?’

8C EF )} NO?
(s (2) TU
@uv {4) QR

(S None of these
ons (161 -168) : Study
the foliov lnrommtbn carefully and
answer the gives questions.

= -

in an intemational meel, repre-
sentativea, A. B. C.D.E. F.Gand H
fram elght dilfeventcountses viz. Thal-

‘lznd. France, liolland. Austrla. U.S..

Spafn, India and Gemuany (not neces-
sarily in the same order] sitaround a.
droular tablé Gacingthe centre, A who
represents Germany saits third to the

JeR of E. The one who &8 from [ndla

8lt8 to the tlymedtate right of A. D who

£s from Holland gita sacond Lo the rght
vf B. B tanot an Immediate aetghbour
of E. C whos from Spaln sits cxactly
In the middle of people repiesenting
U.S. and tndia.G, the represéntative
from France sits second to the left of
Hwho s from Thalland,

16L How many people alt between A
and represenative fram Austria

when counted 161 clockwise di-

rectoo ?

(1) None

(3)Two 4

(81 Four. , ; «

Which of the followmg {8 TRUE

tegarding represcntutive F ?

* (1) F is the repreaentative. of
Austiia

) F slts second (o the left of
the repesentative from Thal-
land.

13) Representative (ram Genma-
ny ls ot an avaxxilase gelghe
bour.of ¥,

(4) E aits third to the right of F.

(S):Nonc is truc

in which of the following palrs

ia the repreaentatlve from the

firet countty sitting to the lrume-
diate’ teRt of Ui representative

(rom the eecond country ?

(1) Indla- Thatland
2 Austda-U.S
(Sl’l?jan‘hi;id - Holland
(4) Spain - Germany
(S) U.S, - Spyin
164. What {s the position of B-with
respect tothe position of yepre-
sentalive from the U.S, ?
(1)'Mhird to the left
(2) Fourthto the right
(3) Fourthtothelefi
{4) Second to the right
(8) Second to the left

{2] One
(4) ‘Three

163.

168, Which of 1he fotlowing paii's rep-
resents the immediate nefgh- -
I bawg'of the rcpmumnuve fram
Holland ?
(1)co {2) BE
8V AH (4) #B
(sl GE

199

kr lbeq

"stons numberéd 1'and I: You hiave 10

168. Th¢ representauve of whlcb of .’
the following countstes 1s scalcd
secondio the teft of indtusn rep-

restntative ?
(1)1hatland {2 U.S.
(3) France *{¢) Spaln

{8) None of these
167. The representative of which of |
the fallowing countries sils €x-
acily in the middie of the repire-
sentatives from Thalland and

France?
(¥) Holland (2) Austria
(3) Germany  (4) U.S.

(S) None of thiese
Direction (168~ 170) : Read the
folowing information/slatement care.
fulty and answer the questions.
Wiiich of the following cxpres
sions will be true If \he glven
expresston ‘K 2G>Hg P is
definitely true?
MFzK ~1AH<K
BF<G ' ([4KZH
(S)-Nonc of these Y
inwhich of the rol!omngexpms-
sions will the cxpnzslon A<D
be definitely rrue ?
(MA2ZB=C<D
{22A>B=C2D
A8 A<BuCgD
(4 A>B<CsD
(5}-None-of these
170. [n which of the following ogres-
slons dack_the_expression
;M > R does not hold t{ue ?
P =P53QP>R o
2IM>P2Q =R
[BIR=P<Q <M
{4 R< QsP =M |
PR M - Pz O+AR
-Dlracuonb (171-175) : 3n cach

Ionnge gveo three
rolIuch b?ivo conclu-

stalcmc

take the three given statements to be
true even If they scem 10 be at vari-
ance frotn commoaly known facts and |
then decide which of the given con- |
clusians Jogically follows from the giv-
en statements disregarding corunun-
ly kniown fucts.

Glve answer (1} if only eonclu-
slon 1 foRows.

Give anewer {(2) if only conclu-
sion 1 fol)ows.

‘Give answer (3] if either con-
cluston Tor concluslon li follows.

Give anawer (4) If Ticither con-
clusion | norconclusion 11 {ollows.

Glve anawer ($) If both conclu-
sion | and conclusion 1) follow

PO
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171. Statementa:
All typhoons are cyclones.
All winds aire typhicons.
All clouds are winds.
Conclusafons :
I. All typhoons arc clouds.
1. All clouds are ¢yeloncs.

Stntements :

Some Nopples are keyboards,
Al kcyboatda are spe.kers.
All speakers are monitors.
Coaclusions :

I. Somemensixs ace flopplea.
il. All keyboawds are monliora
Gtatemcents ¢

Somic kevy are focks.

Some locks are doors.

All doors arc windows.
Conclusions :

I. Snme keys :re doors.

1l. Some¢ window's asc locks.

Statements:
All 1gtands are ocountr .cs.
All continents ase islands.
Al planets are countries.
Concluslons :
1. Some contincnts arc not
counlifes.
il. No planet is a continent.
Gtatements:
All buses are scooters.
No scooter 18 a traln,
Sorne tiains arc jeeps.
Conclusions :
I. Nobuslis atrain.
i1 Sore jeeps are scouter.
Ditectlons (176 - 180) :Ineach
question below a statemem is glven
followed by two courees of action nun-
bered | and ji. A course of action 18 a
practicable and feaslble step or ad-
ministrathve declsion to be taken for
follow-up, improvement, or further
action in regard to the problem. poli.
cy etc. ®n the basis of thé informa-
tion glven tn the statement, you have
to asstume everylhing In the statement
{o be true, and decide which of the
suggested courses bf action logically
follow(s) for puriuing.
Give answer {1] if only t {ollows.
Give answer (2] & only U folbows.
Give answer {3] € cither [ or Il
follows.
Give answer (4) U nefther 1 nor
11 follows
Glve agswer (S)if both tand [I
fallow.

72

173.

174.

1786.

176. Statement: Accordingto latest
staustics, nunber of rhinos killed
by tigers waa much more thin
the nuinber of rhinos kitied by
poachers 1na wildlile sanctuory.
Courses of actlon @

Il Strcter regulationa should be
frarved [n order (o punish the
poachers.

Il. As done in some sanctuar-
iey. the ureas where tigers
huntand thie areas with doo-
fmant hitno populstion shouid
be artificlally separated.

177. Statemecnt : Amlid-aircodlision
waa narrowly avoided when pl-
Il of one of tiie AlrraRa neglect-
cd the air trajliccontroller’s tn-
structions.

Coarses of actlon :

I.  Pilots of boih of the atrcrnfis
should be tnmediately repri-
mandcd by revoking their it
censes.,

Il. ‘The tealning of alr traffic con-
trelters should be Improved
and made more comprehen-
glve In order to avoid such
incidlents infutuce

178. Statement : @l apill from the

oil carrder of one of the biggeat

ofl companies has severcly af-
fectexl the maiine Iife In o Jarge
arca near the guif reglon.

Courses of action :

t. The oll company should be
penaliged {or the ncgligence
and the harm causcd to the
emvizonment.

1. Efforts ahould be made to
*NifLas marty masine animals
inthe arca as possfbleto saf-
er hahitats,

Statcment : Many privale

schools have been reportedly

denytng admissfon Lo students

{rom poor families while prefer-

ring those with sound (inandal

hackground regardless of thelr
meril.

Courses of action :

{. Poorstudents shouldbe ¢cn-
cournged to tiaxke adinizsfons
only in Govérnment run
schools where such disctime.
Inafion does not extst.

1I. The government shoukd en-
foree a crtaln percentage of
seats for students {rom poor
Inmilies in every achool.

179.

180. Statement : ‘The numberof ma-
laria cases has been rising slg-
nilicantly In the clty aince the
last fcw months.

Courses of action :

t. The munleipal authorities
should take Immedbate steps
to destroy the hreeding plac-
c8 of mosyuitoes and iin-
prove hygiene in the arca

Il. A campalgn o educate peo-
ple ibout {1 ways to prevent
the discase should b+ start
cd usitg local imedin and so-
cial workers.

Directions (181-18B) : In cach

question beloi fa gfven 8 statement

followed by two assumpllons num-

“besédYand IT An assumptfon ks same-

thing supposcd ot taken for granted.

You hav¥ to eonsidée the statement and

the following assumptiois and decide

which of the assunptions is itnptieit
1n thié statement. ==

Give enswer (1) 'Fot’\!f)\mump
tion 1 is §ropltcit.

Give answer {2) ifonly'Assump
tion £l Is Implicit.

Give anawer (3) if efther As-
sumption ] or Assumption J! 15 Impltc-
it

Give anawer {4) Il nelther As-
sumption | nor Assumption Il Is im-
plictt.

Glve answer (B) if ksoth Assvunp-
tions | and i are tmplicit.

181. Statement : Akading vinfversl-
ty has hegun a pwaxetice of dis-
playiong results only on the in-
temet rather than the inain no-
tioe beanis.

Assumptions :

I, All the atudents enolled with

the univorsity have access to
Internct at home.

1. Mosiof the students referred
to the results displayed on
both the Intcmet as well as:
the riotiee boards eardier.

182, Statément : In order W replen-
Ish the nutrients in the soll. st és
infportant to grow dt{ferent
types of crops every alternate
season.

Assumptions :

I. A crop can nerer be grown
for the second time In the
pame ficld.

IL If a different crop la grown
in the successsve sSCason. No
adititlonal nutrfents such as
fertiiizess arve required to be
added ta the sotl.



183. Statement : If farmers want to
improve thelr yield. they must
use organic fertilizers in place of
cliemical {erulizers.
Assumptioos :

1. Clenua) festlizers have cer-
tain ill eltects on health,

11. Chemical fertiiteera do not
produce as much yield as the
organic festilizers.

Statements : Store eatablea In

the deep freeze In order to pre-

serve these for a fong time.

Assumptions :

1. Food malertal remains cat-
able even after deep freezing
for a long time.

. itis noL pagsible to storc any
eatable at voom temperature
cven for a shoster petiod of
time.

6tatemcats : A leading NGO

decided to open a librasy con-

taining books and aawsgapers
of all major publishers in a re-
motc village

Assumptions :

1 All other nearby villages al-
ready have stmitar librarwes

i1. There is adequate number of
literate pcople tn the village.

Directions (186-188) : Below In

each question ane given Lwo statemenis
(A) and (B). These atatementamsy be
cither independent causes or may be
effects of independs=nt causea or a
common cause, One of these state
ments may be the cffect of the other
statement. Read both the statements
and decide whichof the following nn-
swer cholce correctly deplets the re-
latioaship between these two states
ments.

Mark answer (1) if atatement (A)
is the cause and statement (B) Is its
elfect.

Mark answer (2) if statement (B)
is the cauge and statement (A} Ia its
effect.

Mark answer (3) if both Lhe
nlalemenls (A) and (Bl are tindependent
cihuses

Mark answer.(4) f both the
staternents (A} and (B) are effects of
independent causces.

Mark answer (5) Il both the
statemnenta (A) and (8) arc efliects of
S0MC COMMON Cause.

166. (A) The government has decid-
ed to take atrict action
against (he bullder responst-
ble for construction of the
bridge for having uscd low

184.

169.

quality matertal thereby risk-
ing several lives.

(& The government has decid-
cd to build a vehicularbridge

" over the river connecting the
suburban arca to the chy {n
order to reduce the tralfic
lcad on the main road.

187. (A} Margy peopic prefer to shop
at the big retail chatna than
the local grocery stores.

(B) Retall chains offer a dlscount
of morc than 25% as com-
parcd o the local grocery
shops.

188. (A) Morc than two billon pounds
of chemleals are spcwed in
the air evesyday by industrics
:md vehicles of some coun-
(ties.

(8) Intermatioan Pallutian Canirol
Organization a expected to
penalize the countries which
cros3 the maximum emn{sslon
limits.

Directions (189-180) : Study the
following information carefully and
answer the given questions.

Aword and numbes arrangement
machine when given an tnput line of
wards and numbeys, rearranges them
followtng a particular rule i cach step.
The following I8 an tllustration of In-
pul and rearrangement.

Inpul Spary 82 27 Uva 46 Beat
Omn! 73

Stepl 73 Spark 82 27 Uva 46
Beat Omnt

Stepll 73 27 Spark 82 Uva 46
Beat Omni

Step ()i 73 27 82 Spark Uva 46
Beat Omnl

SteplV 73 27 82 46 Spark Lva
Beat Omni

StepV 73 27 82 46 Omni Spark
Uva Beat

StepVl 78 27 82 46 Omni Liva
Spark Beat

StepVIL: 73 27 82 48 Omnl Uva
Beat Spark
Step V1! ix the last step of
the arrangement.

As per the rules foftowed (n the
above sieps. And out In cach ot the
following questions the appropriale
step for the given dnput.

189. [nput : Oat 19 Eat 83 6G Cat 54

Fur

lHow many steps will be requtred

to complete the rearvangement ?

(1) Thiree {2) Four

3) Pive {4) Sec

(5) None of these

Input: Boat 34 tnk 21 42 wWind

Air73

Which of the follewing whi be

Mep VIl of the above Input ?

(1) 79 21 42 Boat 34 lnk Wind
Als

190.

(2) 75 21 42 Baat 34 Ink Wind

13) 75 42 34 21 Afr. Boat Ink
Wind

(4) ‘There will be no such step
as it gets arranged before
step VIi

(5! Nonc of these

Directions (191-200}: In each of the Questiona ghven belaw which one
of the folloaving anawer (tgures on the right should come after the problem
Ngures on the left tf the scquence were contsnued ?
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